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1. éiﬁa‘iﬁ%@x +y - 7)dx + (x +y— 3)dy =0z @M (15%)

b eserky +4y +4=0 k¥ y(0)=32(0)=-1248 (15%)

3. %ﬁa‘i@;ﬁif(x,y,z)zxz+2y+z—34ti_$\ﬁx+y—z—1=0 » 0<x<1 0L2y<lz&#
2 (20%)

4. The Buler formula is given by e” = cosy +isiny, where i=~—1.
Find the value of e’ when y = — /4. (15%)

5. The Newton’s iteration method for a continuous and differentiable function fx) is given by

1= % —i'(ﬁ”—)— forn=0,1,2, ...
/()
(&) Find x3 for f(x) = x* — 1, with starting value xo= 0.5. (15%)
(b) Is the above value a good approximation to the positive solution of
x2-1=0 (5%)

[ X

6. A 95% confidence interval for a random variable x with a normal distribution is given by

CONF {(11~1.960/\Jn < x < u+1.965//n }

where 7 is the sample size, £ is the sample mean, and O is the standard deviation.
Use the above formula to determine the 95% confidence interval for 7=100, ££=6,and o=2. (15%)




